th& 13 9] AABC o)A A M & BC
o] Z#4ol1, ABLCE, ACLBD o]t}
(A =50°4 ], LEMD 9] A7|& +5f
HY

@ 40° @ 50° @80° @ 85° © 90°

B

/BEC = /BDC ©|2& 4] ¥ B,C,D,E = 3 ¢ o] 911,
BM = CM |22 H M 2 99| S4o|tt. aABD A
/ABD = 90°-50° = 40°

whebA LEMD = 2/EBD = 2 x 40° = 80° ©|t}.




2. =34 AHA B C D7 Sl e A2?

5 A A, D7FAE BC of tisteo] 22 &of 9111, /BAC =
/(BDCo|H U] A A, B, C, D+ g ¢ § St
® /BDC +80° = 100° .. /BDC = 20°




3. T A x+ 2y + 2z 9 Bh& FEHA?

@® 100° @ 120° ® 140° @ 160° (3)180°

£CBD = /x
/z=/ADC o|EZ
. L/ABC + /ADC = /x + £y + 2z = 180°




4. & 1Yo oABCD 7} 9ol HT o,
(BDC ¢] 27]&?

@® 50° @ 55° @’60O @ 65° ® 170°

/BDC = /BAC = 60°(- 5.0ptBC ©] 957}




o2 I PAE YO HA
oA Hstal, A& PO o A%
407t dE dS B

/APB 9] o]5&41o] AB ¢
d& C g o, /PCA 9

= B o)
azle
P30

@ 25° @ 30° (@)45° @ 50° ® 60°

LOAP =90°

(APC = /OPC = a, /OAB = (OBA = b 2} 5}, AABP
oA 90° + 2(a + b) = 180°

Sa+b=45°

ACBP 9|4 /PCA = /CPB + /CBP

S /PCA=a+b=145°




thS 1804 PA, PB &= o] HAo|x
H A, B HHo|th /PAB = 60° &
u, AABP 9] H§o]&=?

D 363 cm? @ 24 cm?
@12\@(:1112 ® 12cm?

® 24v2cm?

Ith. 299d] /PAB =




ohe 29T} ol A P oA ¥tz Ee] A

=
A
o]7b 18 91 ¥ O o] 12 F A A
4L A, Betsta, /APB = 50° & o,
AB P
5.0ptAB 2] Ao]=?
@ = @ 3n © dn @ 6n ) 137

130°
AB=27x1 — 137 otk
5.0pt X 18 X —— I 3z o]t}




o} 1904 PA, PB = Y O 9] HAo]

= A
. /P =60° OA = 6cm ¥ o, AABP
o] yo]=?
= P<]
B
@ 24cm? @27 \/§ch ® 12 \@cm2
@ 40+V3cm? ® 54cm?

~&B

PA = PB ©|B2 AABP &= R E 7}
o] A717} #-& FAZrolth.

PO € J°oW 9o} &2 Oo] "ot
o2t PA:AO=1: V3 =6:PA o]t}

~PA=6vV3cm, % x (6V3)% = 27 V3(cm?)




9. o3 IHolA ¥ Hol gt H PojlA
a8 HA PT o &4 PB 7} th--3
2 o, x o gre?

® 3 @ 4 ® 5

@6 o7

~&B

AQxQB=CQxQT

AQx6=8x3 L AQ=4

PT’ = PA x PB A4 (46)? = x(x + 10)
x2+10x-96 =0

(x+16)(x—6) =0 Lox=6 (" x>0)




10. o 2”614 €0 ¢ F A AB, CD 9 RHL Pt @
5. OptAC — 25.0ptBD 0|1, 5. OptAC o] dol=
o) é olth. o] W, ZAPC 9] 172

O 35° @ 40° @45° @ 50° ® 55°

B

(ADC = % X 180 = 30°

1
(DAB = — x 180 = 15°
12

(APC = /ADC + /DAB = 30° + 15° = 45°




11. o2 23HolA LAOB = 240° ©] 11, 5.0ptf>-z§ 5.0ptPB=2:1¢
ofj, /PAB 9] 27]&=?

@ 10° @ 15° @20° @ 25° ® 30°

N N _
5.0ptPA : 5.0ptPB=2:1 °|2 2 /PAB = /x 2t1l 5},
/PBA = 2/x, /APB = 120° ©|E 2 /x + 2/x = 60°
o Lx = 20°




12. o5 I3 Zo] ¥AF2] do7F 15em 1 € O ¢ & @ AB, CD

ol w¥-g P 2ok,
VN N
/BPD = 48° ¥ uj], 5.0ptAC + 5.0ptBD 2] Zo|E F3}oiz},

@ 4ncm @ 6rcm 3)8rcm

@ 10mcm ® 127cm

A ¢t D olom™ zADC + /BAD = 48°
5. OptAC 9} 5. OptBD o] ZA17}o] gF2 gge o] B2

o

5. 0ptAC+5 OptBD 9] Ed|9] Ao]=2x15xmax% 39660 - = 8r (cm)
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